Issued in lieu of FERC No. 3.34.0 which was withdrawn
Cancels FERC No. 3.33.0
FERC ICA Oil Tariff

NORTH DAKOTA PIPELINE COMPANY LLC

LOCAL PROPORTIONAL TARIFF

RATES APPLYING ON THE TRANSPORTATION OF
CRUDE PETROLEUM
FROM POINTS IN

NORTH DAKOTA

TO POINTS IN

MINNESOTA AND NORTH DAKOTA

Governed by rules and regulations published in North Dakota Pipeline Company LLC FERC No. 2.12.0, or successive issues thereof.

[C] Issued pursuant to the FERC Order on Petition for Declaratory Order dated November 22, 2010 in Docket No. OR10-19-000.

[N] Filed on two (2) days' notice under authority of 18 C.F.R 341.14. This tariff publication is conditionally accepted subject to refund pending a 30-day review period.

Filed in compliance with 18 CFR 341.3 (Form of tariff).

This tariff also applies on North Dakota intrastate traffic.

The rates in this tariff are expressed in U.S. cents per barrel for pipeline gathering and transportation, subject to change as provided by law.

The provisions published herein will, if effective, not result in an effect on the quality of the human environment.

ISSUED: June 28, 2023 EFFECTIVE: July 1, 2023

ISSUED BY:

Erin Rolstad

Director, Regulatory Strategy & Compliance
Enbridge Pipelines Inc.
200, Fifth Avenue Place
425 – 1st Street S.W.
Calgary, AB Canada T2P 3L8

COMPILED BY:

Sharon Zaidi Regulatory Strategy & Compliance Enbridge Pipelines Inc. (403) 767-3705

E-mail: Enbridge-Tariffs@enbridge.com

[U] All rates on this are page are unchanged.

		FROM	FROM TO	
Route No.	Group	North Dakota Pipeline Company LLC	North Dakota Pipeline Company LLC	RATE
		Minot (Ward County), ND		132.77
	Group 1 *	Berthold (Ward County), ND	Clearbrook, Clearwater	132.77
		Stanley (Mountrail County), ND	County, MN	132.77
	Group 2 *	Grenora (Williams County), ND		152.05
1	Group 5 *	Tioga (Ramberg/Beaver Lodge Station), (Williams County), ND	Clearbrook, Clearwater	137.01
	Group 6 *	Trenton (Williams County), ND	County, MN	172.13
	Group 7 *	Alexander (McKenzie County), ND		178.46
	Group 8 *	8 * Little Muddy (Williams County), ND		137.01

TABLE 2 – TRUNK LINE RATES TO GRENORA (U.S. CENTS PER BARREL) FROM TO					
Route No.	North Dakota Pipeline Company LLC	North Dakota Pipeline Company LLC	RATE		
1	Grenora (Williams County), ND (pumpover) *	Grenora, Merchant Storage, (Williams County), ND	33.18		
* See Item 20 in rules and regulations tariff regarding quality specifications.					

Davita	FROM	ТО	
Route No.	North Dakota Pipeline Company LLC	North Dakota Pipeline Company LLC	RATE
1	Little Muddy (Williams County), ND (pump-over) *	Little Muddy, Merchant Storage, (Williams County), ND	33.18

[U] All rates on this page are unchanged.

	FROM	ТО	
Route No.	North Dakota Pipeline Company LLC	Tesoro High Plains Pipeline Company	RATE
	Grenora (Williams County), ND*		48.89
1	Trenton (Williams County), ND *	Tioga (Ramberg/Beaver Lodge	70.35
	Alexander (McKenzie County), ND *	Station), (Williams County), ND	76.71
	Little Muddy (Williams County), ND*		53.29
* See Item 20	in rules and regulations tariff regarding quality specification	ons.	

	FROM	ТО	
Route No.	North Dakota Pipeline Company LLC	Hawthorn Oil Transportation (North Dakota), Inc.	RATE
	Stanley (Mountrail County), ND (pump- over) *		33.18
	Tioga (Ramberg/Beaver Lodge Station), (Williams County), ND *		82.19
1	Grenora (Williams County), ND *	Stanley (Mountrail County), ND	138.67
	Trenton (Williams County), ND *		158.39
	Alexander (McKenzie County), ND *		164.28
	Little Muddy (Williams County), ND *		158.39

[U] All rates on this page are unchanged.

TABLE 6 - UNCOMMITTED TRUNK LINE RATES TO BERTHOLD (U.S. CENTS PER BARREL) **

	FROM	ТО	
Route No.	North Dakota Pipeline Company LLC	Bakken Pipeline Company LP OR Enbridge Rail (North Dakota) LLC OR Enbridge Storage (North Dakota) LLC	RATE
	Berthold (Ward County), ND (pump- over) *		1.00
1	Stanley (Mountrail County), ND *	Berthold (Ward County), ND	82.19
	Tioga (Ramberg/Beaver Lodge Station), (Williams County), ND *		82.19

^{*} See Item 20 in rules and regulations tariff regarding quality specifications.

Route 1 - Route via North Dakota Pipeline Company LLC.

[C] TABLE 7 - COMMITTED TRUNK LINE RATES TO BERTHOLD (U.S. CENTS PER BARREL) **

	FROM	TO	F	RATE ¹
Route No.	North Dakota Pipeline Company LLC	Bakken Pipeline Company LP	10 Year Commitment (≥40,000 bpd)	Deferred 5 Year Commitment
	Berthold (Ward County), ND (pump-over) *	Berthold (Ward	N/A	N/A
1	Tioga (Ramberg/Beaver Lodge Station), (Williams County), ND *	County), ND	[C] 83.19	[C] 97.99

^{*} See Item 20 in rules and regulations tariff regarding quality specifications.

[C] Route 1 - Route via North Dakota Pipeline Company LLC.

^{**} Any Shipper wanting to deliver to Berthold from receipt points not listed above (i.e., Grenora, Trenton, Alexander or Little Muddy) shall be routed through Tioga and pay a segmented rate consisting of the rate from the applicable receipt point in Table 4 (Uncommitted Trunk Line Rates to Tioga) plus the Table 6 Uncommitted Rate from Tioga (Ramberg/Beaver Lodge Station), (Williams County), ND to Berthold (Ward County), ND.

^{**}Any Shipper wanting to deliver to Berthold from receipt points not listed above (i.e., Grenora, Trenton, Alexander or Little Muddy) shall be routed through Tioga and pay a segmented rate consisting of the rate from the applicable receipt point in Table 4 (Uncommitted Trunk Line Rates to Tioga) plus the Table 7 Committed Rate from Tioga (Ramberg/Beaver Lodge Station), (Williams County), ND to Berthold (Ward County), ND.

[[]C] ⁴All Committed Rates to Berthold (Ward County) include an estimated operating cost charge of (12.32) cents per barrel which will be trued-up on an annual basis to reflect actual costs and throughputs of the previous year and forecasted costs and throughputs for the current year.

TAB	LE [W] 7 8 – UNCOMMITTED TRUNK LINE	RATES TO RAMBERG (U.S. CE	NTS PER BARREL)	
	FROM	то		
Route No.	North Dakota Pipeline Company LLC	Dakota Access, LLC	RATE	
	Stanley (Mountrail County), ND *	D 1 ND	[U] 32.61	
1	Tioga (Ramberg/Beaver Lodge Station), (Williams County), ND *	Ramberg, ND	[U] 18.48	

^{*} See Item 20 in rules and regulations tariff regarding quality specifications.

Route 1 - Route via North Dakota Pipeline Company LLC.

TABLE [W] 8 9 - COMMITTED TRUNK LINE RATES TO RAMBERG (U.S. CENTS PER BARREL)

	FROM	TO		RATE	
Route No.	North Dakota Pipeline Company LLC	Dakota Access, LLC	5 Year Commitment	4 Year Commitment	[C] 1 Year Commitment
	Stanley (Mountrail County), ND *	Domborg	[i] 27.11	[I] 29.57	[C] 29.35
1	Tioga (Ramberg/Beaver Lodge Station), (Williams County), ND *	Ramberg, ND	N/A	N/A	[C]- 19.57

Committed Rates in this table are available to Committed Shippers that signed Transportation Services Agreements pursuant to the Open Season held between August 3, 2021 and August 31, 2021.

Route 1 - Route via North Dakota Pipeline Company LLC.

^{*} See Item 20 in rules and regulations tariff regarding quality specifications.

[U] All rates on this page are unchanged.

	TABLE [W] 9 40 - INTERCONNECTION AND TERMINAL CHARGES (U.S. CENTS PER BARREL)
	For gathering into Alexander (McKenzie County), North Dakota from Statoil Oil & Gas, LP, a charge of 13.26 cents per barrel will be assessed.
	For gathering into Alexander (McKenzie County), North Dakota from Caliber Midstream North Dakota LLC, a charge of 13.26 cents per barrel will be assessed.
	For gathering into Alexander (McKenzie County), North Dakota from Targa Badlands, LLC, a charge of 13.26 cents per barrel will be assessed.
	For gathering into Alexander (McKenzie County), North Dakota from USG Wheatland Pipeline, LLC, a charge of 13.26 cents per barrel will be assessed.
	For gathering into Trenton (Williams County), North Dakota from Statoil Oil & Gas, LP, a charge of 13.26 cents per barrel will be assessed.
	For gathering into Trenton (Williams County), North Dakota from Hiland Crude, LLC, a charge of 13.26 cents per barrel will be assessed.
	For gathering into Little Muddy (Williams County), North Dakota from Epping Transmission Company, LLC, a charge of 1.00 cent per barrel will be assessed.
Interconnection	For gathering into Tioga (Ramberg/Beaver Lodge Station), North Dakota from Enable Midstream Partners, a charge of 13.26 cents per barrel will be assessed.
	For gathering into Tioga (Ramberg/Beaver Lodge Station), North Dakota from Twin Eagle Midstream Assets, LLC, a charge of 13.26 cents per barrel will be assessed.
	For gathering into Tioga (Ramberg/Beaver Lodge Station), North Dakota from Hiland Crude, LLC, a charge of 13.26 cents per barrel will be assessed.
	For gathering into Tioga (Ramberg/Beaver Lodge Station), North Dakota from Crestwood Dakota Pipeline, LLC, a charge of 13.26 cents per barrel will be assessed.
	For gathering into Tioga (Ramberg/Beaver Lodge Station), North Dakota from Tesoro High Plains Pipeline Company, a charge of 13.26 cents per barrel will be assessed.
	For gathering into or truck unloading at Tioga (Ramberg/Beaver Lodge Station), North Dakota for delivery to Tesoro High Plains Pipeline Company, a charge of 12.88 cents per barrel will be assessed.
	For gathering into Stanley (Mountrail County), North Dakota from Sacagawea Pipeline Company, LLC, a charge of 13.26 cents per barrel will be assessed.
	For gathering into Stanley (Mountrail County), North Dakota from Targa Badlands, LLC, a charge of 13.26 cents per barrel will be assessed.
	For gathering into or truck unloading at Berthold (Ward County), North Dakota, a charge of 26.51 cents per barrel will be assessed.
Terminal	For gathering into or truck unloading at Stanley (Mountrail County), North Dakota, a charge of 26.51 cents per barrel will be assessed.
	For gathering into or truck unloading at Little Muddy (Williams County), North Dakota, a charge of 1.08 cent per barrel will be assessed.

SYMBOLS:

[C] – Cancel
[I] – Increase
[N] – New
[U] – Unchanged rate
[W] – Change in wording only

North Dakota Pipeline Company LLC

APPENDIX A

WORKSHEET SUPPORTING RATES
FERC No. 3.35.0

Effective: July 1, 2023

		TABLE 1 – TRUNK LINE R	ATES TO CLEAR	RBROOK (U.	S. CENTS PE	R BARREL)		
		LIST OF ORIGINS TAN	KING GROUPS 1	,2,3,5,6,7 OI	R 8 BASIS OF	RATES		
		FROM	то	(A)	(B)	(C)	(D) = (B * C)	(E)
		1 KOM	10					
Route No.	Group	North Dakota Pipeline Company LLC	North Dakota Pipeline Company LLC	FERC No. 3.32.0 Base Rate	7/1/2022 Ceiling	7/1/2023 FERC Index Multiplier **	7/1/2023 Ceiling	Proposed Rates effective 7/1/2023
	Group 1 *	Minot (Ward County), ND	Clearbrook, Clearwater County, MN					
		Berthold (Ward County), ND		132.77 132.77	1.133194	150.45	132.77	
		Stanley (Mountrail County), ND						
	Group 2 *	Grenora (Williams County), ND		152.05	152.05	1.133194	172.30	152.05
1	Group 5 *	Tioga (Ramberg/Beaver Lodge Station), (Williams County), ND	Clearbrook,	137.01	137.01	1.133194	155.26	137.01
	Group 6 *	Trenton (Williams County), ND	Clearwater County, MN	172.13	173.48	1.133194	196.59	172.13
	Group 7 *	Alexander (McKenzie County), ND		178.46	179.86	1.133194	203.82	178.46
	Group 8 *	Little Muddy (Williams County), ND		137.01	173.48	1.133194	196.59	137.01

^{*} See Item 20 in rules and regulations tariff regarding quality specifications.

Route 1 - Route via North Dakota Pipeline Company LLC.

^{**} Issued by the FERC on May 16, 2023 in Docket RM93-11

	TABLE 2 – TRUNK LINE RATES TO GRENORA (U.S. CENTS PER BARREL)								
	FROM	то	(A)	(B)	(C)	(D) = (B * C)	(E)		
Route No.	North Dakota Pipeline Company LLC	North Dakota Pipeline Company LLC	FERC No. 3.32.0 Base Rate	7/1/2022 Ceiling	7/1/2023 FERC Index Multiplier **	7/1/2023 Ceiling	Proposed Rate effective 7/1/2023		
1	Grenora (Williams County), ND (pump-over)*	Grenora, Merchant Storage, (Williams County), ND	33.18	33.18	1.133194	37.60	33.18		

^{*} See Item 20 in rules and regulations tariff regarding quality specifications.

Route 1 - Route via North Dakota Pipeline Company LLC.

** Issued by the FERC on May 16, 2023 in Docket RM93-11

	TABLE 3 – TRUNK LINE RATES TO LITTLE MUDDY (U.S. CENTS PER BARREL)										
	FROM	то	(A)	(B)	(C)	(D) = (B * C)	(E)				
Route No.	North Dakota Pipeline Company LLC	North Dakota Pipeline Company LLC	FERC No. 3.32.0 Base Rate	7/1/2022 Ceiling	7/1/2023 FERC Index Multiplier **	7/1/2023 Ceiling	Proposed Rate effective 7/1/2023				
1	Little Muddy (Williams County), ND (pump-over)*	Little Muddy, Merchant Storage, (Williams County), ND	33.18	33.18	1.133194	37.60	33.18				

^{*} See Item 20 in rules and regulations tariff regarding quality specifications.

Route 1 - Route via North Dakota Pipeline Company LLC.

^{**} Issued by the FERC on May 16, 2023 in Docket RM93-11

	TABLE 4 – TRUNK LINE RATES TO TIOGA (U.S. CENTS PER BARREL)										
Route No.	FROM	то	(A)	(B)	(C)	(D) = (B * C)	(E)				
			FERC No.	7/1/2022	7/1/2023	7/1/2023	Proposed Rates				
	North Dakota Pipeline Company LLC	Tesoro High Plains Pipeline Company	3.32.0 Base Rate	Ceiling	FERC Index Multiplier **	Ceiling	effective 7/1/2023				
	Grenora (Williams County), ND*	y), ND*		90.25	1.133194	102.27	48.89				
1	1 Trenton (Williams County), ND *	Tioga (Ramberg/Beaver Lodge Station), (Williams	70.35	79.23	1.133194	89.78	70.35				
	Alexander (McKenzie County), ND *	County), ND	76.71	85.58	1.133194	96.98	76.71				
	Little Muddy (Williams County), ND*		53.29	79.23	1.133194	89.78	53.29				

^{*} See Item 20 in rules and regulations tariff regarding quality specifications.

Route 1 - Route via North Dakota Pipeline Company LLC.

^{**} Issued by the FERC on May 16, 2023 in Docket RM93-11

	TABLE 5 – TRUN	K LINE RATES TO STANLEY (U.S. CENTS P	ER BARRE	L)		
·	FROM	то	(A)	(B)	(C)	(D) = (B * C)	(E)
	FROW		FERC No.		7/1/2023 FERC		Proposed Rates
Route No.	North Dakota Pipeline Company LLC	Hawthorn Oil Transportation (North Dakota), Inc.	3.32.0 Base Rate	7/1/2022 Ceiling	Index Multiplier**	7/1/2023 Ceiling	effective 7/1/2023
	Stanley (Mountrail County), ND (pump-over) *		33.18	36.00	1.133194	40.79	33.18
Tioga (Ramberg/Beaver Lodge Station), (Williams County), ND * Grenora (Williams County), ND * Trenton (Williams County), ND * Stanley (Mountrail County), ND * ND 158.39 172.02	0 (0)/(82.19	135.55	1.133194	153.60	82.19
	150.58	1.133194	170.64	138.67			
	Trenton (Williams County), ND *	ND	158.39	172.02	1.133194	194.93	158.39
	Alexander (McKenzie County), ND *		164.28	178.43	1.133194	202.20	164.28
	Little Muddy (Williams County), ND*		158.39	158.39	1.133194	179.49	158.39

^{*} See Item 20 in rules and regulations tariff regarding quality specifications.

Route 1 - Route via North Dakota Pipeline Company LLC.

^{**} Issued by the FERC on May 16, 2023 in Docket RM93-11

	TABLE 6 – UNCO	MMITTED TRUNK LINE RATES	TO BERTHOLD (U.	.S. CENTS PE	R BARREL) **		
	FROM	то	(A)	(B)	(C)	(D) = (B * C)	(E)
Route No.	North Dakota Pipeline Company LLC	Bakken Pipeline Company LP OR Enbridge Rail (North Dakota) LLC OR Enbridge Storage (North Dakota) LLC	FERC No. 3.32.0 Base Rate	7/1/2022 Ceiling	7/1/2023 FERC Index Multiplier**	7/1/2023 Ceiling	Proposed Rates effective 7/1/2023
	Berthold (Ward County), ND (pump-over) *		1.00	102.99	1.133194	116.71	1.00
1	Stanley (Mountrail County), ND *	Berthold (Ward County), ND	82.19	110.77	1.133194	125.52	82.19
	Tioga (Ramberg/Beaver Lodge Station), (Williams County), ND *		82.19	137.29	1.133194	155.58	82.19

^{*} See Item 20 in rules and regulations tariff regarding quality specifications.

^{**} Any Shipper wanting to deliver to Berthold from receipt points not listed above (i.e., Grenora, Reserve, Trenton, Alexander or Little Muddy) shall be routed through Tioga and pay a segmented rate consisting of the rate from the applicable receipt point in Table 4 (Uncommitted Trunk Line Rates to Tioga) plus the Table 6 Uncommitted Rate from Tioga (Ramberg/Beaver Lodge Station), (Williams County), ND to Berthold (Ward County), ND.

Route 1 - Route via North Dakota Pipeline Company LLC.

^{**} Issued by the FERC on May 16, 2023 in Docket RM93-11

TABLE 7 - UNCOMMITTED TRUNK LINE RATES TO RAMBERG (U.S. CENTS PER BARREL)											
	FROM	то	(A)	(B)	(C)	(D) = (B * C)	(E)				
Route No.	North Dakota Pipeline Company LLC		FERC No. 3.32.0 Base Rate	3/1/2022 Ceiling	7/1/2023 FERC Index Multiplier **	7/1/2023 Ceiling	Proposed Rates effective 7/1/2023				
	Stanley (Mountrail County), ND *		32.61	32.61	1.133194	36.95	32.61				
1	Tioga (Ramberg/Beaver Lodge Station), (Williams County), ND *	Ramberg, ND	18.48	18.48	1.133194	20.94	18.48				

^{*} See Item 20 in rules and regulations tariff regarding quality specifications.

Route 1 - Route via North Dakota Pipeline Company LLC.

^{**} Issued by the FERC on May 16, 2023 in Docket RM93-11

			T	ABLE 8 - COMMIT	TED TRUNK LINE	RATES TO RAMBE	RG (U.S. CENTS PE	R BARREL) **						
			(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H) = (D * G)	(I) = (E * G)	(J) = (F * G)		
Route No.	FROM	то	FERC	No. 3.32.0 Base F	Rate		7/1/2022 Ceiling		7/1/2023 FERC Index Multiplier		7/1/2023 Ceiling	1	Proposed	Rates effective 7/1/2023
	North Dakota Pipeline Company LLC	Dakota Access, LLC	5 Year Commitment	4 Year Commitment	1 Year Commitment	5 Year Commitment	4 Year Commitment	1 Year Commitment	All Committed Rates	5 Year Commitment	4 Year Commitment	[C] 1 Year Commitment	5 Year Commitment	4 Year Commitment
	Stanley (Mountrail County), ND *		23.92	26.09	29.35	23.92	26.09	29.35	1.133194	27.11	29.57	N/A	27.11	29.57
1	Tioga (Ramberg/Beaver Lodge Station), (Williams County), ND *	Ramberg, ND	N/A	N/A	19.57	N/A	N/A	19.57	1.133194	N/A	N/A	N/A	N/A	N/A

^{*} See Item 20 in rules and regulations tariff regarding quality specifications.

Route 1 - Route via North Dakota Pipeline Company LLC.

^{**} Issued by the FERC on May 16, 2023 in Docket RM93-11

		(A)	(B)	(C)	(D) = (B * C)	(E)
	TABLE 9 – INTERCONNECTION AND TERMINAL CHARGES (U.S. CENTS PER BARREL)	FERC No. 3.32.0 Base Rate	7/1/2022 Ceiling	7/1/2023 FERC Index Multiplier *	7/1/2023 Ceiling	Proposed Rates effective 7/1/2023
	For gathering into Alexander (McKenzie County), North Dakota from Statoil Oil & Gas, LP	13.26	13.26	1.133194	15.03	13.26
	For gathering into Alexander (McKenzie County), North Dakota from Caliber Midstream North Dakota LLC	13.26	13.26	1.133194	15.03	13.26
	For gathering into Alexander (McKenzie County), North Dakota from Targa Badlands, LLC	13.26	14.39	1.133194	16.31	13.26
	For gathering into Alexander (McKenzie County), North Dakota from USG Wheatland Pipeline, LLC	13.26	13.26	1.133194	15.03	13.26
	For gathering into Trenton (Williams County), North Dakota from Statoil Oil & Gas, LP	13.26	14.39	1.133194	16.31	13.26
	For gathering into Trenton (Williams County), North Dakota from Hiland Crude, LLC	13.26	13.26	1.133194	15.03	13.26
	For gathering into Little Muddy (Williams County), North Dakota from Epping Transmission, LLC	1.00	13.26	1.133194	15.03	1.00
	For gathering into Tioga (Ramberg/Beaver Lodge Station), North Dakota from Enable Midstream Partners	13.26	13.26	1.133194	15.03	13.26
Interconnection	For gathering into Tioga (Ramberg/Beaver Lodge Station), North Dakota from Twin Eagle Midstream Assets, LLC	13.26	15.38	1.133194	7/1/2023 Ceiling 15.03 15.03 16.31 15.03 16.31 15.03	13.26
	For gathering into Tioga (Ramberg/Beaver Lodge Station), North Dakota from Hiland Crude, LLC	13.26	15.38	1.133194	17.43	13.26
	For gathering into Tioga (Ramberg/Beaver Lodge Station), North Dakota from Crestwood Dakota Pipeline, LLC	13.26	13.26	1.133194	15.03	13.26
	For gathering into Tioga (Ramberg/Beaver Lodge Station), North Dakota from Tesoro High Plains Pipeline Company	13.26	13.26	1.133194	15.03	13.26
	For gathering into or truck unloading at Tioga (Ramberg/Beaver Lodge Station), North Dakota for delivery to Tesoro High Plains Pipeline Company	12.88	12.88	1.133194	14.60	12.88
	For gathering into Stanley (Mountrail County), North Dakota from Sacagawea Pipeline Company, LLC	13.26	13.26	1.133194	15.03	13.26
	For gathering into Stanley (Mountrail County), North Dakota from Targa Badlands, LLC	13.26	13.26	1.133194	15.03	13.26
	For gathering into or truck unloading at Berthold (Ward County), North Dakota	26.51	30.81	1.133194	34.91	26.51
Terminal	For gathering into or truck unloading at Stanley (Mountrail County), North Dakota	26.51	30.81	1.133194	34.91	26.51
	For gathering into or truck unloading at Little Muddy (Williams County), North Dakota	1.08	26.51	1.133194	30.04	1.08